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L "Hospital

5 (Rolle) (Lagrange) (Taylor)
(Cauchy)

8 (a,b) f(x)

f"0)>0  f(x) f")<0  f(x)

Newton-Leibniz



Lo

© M~ O O

™

< 0O O M~ 0 O



Green
Gauss
Stokes)

Fourier Dirichlet [-1,1]
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10 e sinx cosx Inl+x) (@A+x)* Maclaurin

11 [-1,1]

[0.1]

Bernoulli

Euler

4 ym =f(x),y"=f(xy) y'="1(yy)
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Cramer

(
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Schmidt



(Bayes)

F(x) = P{X < x}(—00 < X <)

01 B(n, p)

Poisson P(1)

U(a,b)



N(u,c?) A(A>0) E(A)

—-AX
F(x) = Ae x>0
0 x<0

3 N (w4, 507,053 p)

Chebyshev Bernoulli)
Khinchine De Moivre laplace
Levy-Lindberg






